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YEAR 6 THURSDAY MORNING ACTIVITIES

5 Fluency Questions

1) 4% of 700 =
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'3) 0.6 x 300 =

4) 75% x 1,000 =
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5 Maths Problems

A toy train costs three times as
much as a rocket.

B

The total cost of the train and
rocket is €52

How much does the train cost?

Workers in a factory make toys.

- On Monday they make 2,350 toys.

+ On Tuesday they make 235 more
toys than they did on Monday.

By Wednesday they have to make
7,500 toys in total.

How many toys do they need to
make on Wednesday to make 7,500
in total?

Spelling Challenge

Write the correct spelling for each underlined
word

1. The teacher expected a better

2. The family owned apuppg.

3. Bill and Ann found theweig ht of the potatoes.
4. “My new TV was a " exclaimed Paul.

5. Fatima practised her new




